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KEPT it is a two dimensionalvectorwhose two components are

both real numbers CA is an orderedpair in the
Cartesian plane that hastheform x x2 where Kik EAT
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inequalities
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is asetofequities and inequalities functions

Teri GELA bi for i l m

means for n dimensional vector it
there are m equality functions each has the I and outputs

a scalarnumberb

in this casetheoptimizationproblem canbewritten as
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or in the more concise form

min th
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M not arowt

means g 5 hid is a onedimensionalvector
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model min fix
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where firn R and JEER

a feasiblepoint or feasible solution is a point in the
constraint set the

agg
also a setof equalities and inequalities

An optimal solution is a feasiblepoint thatattains the bestpossible
objective value that is a point

E I such that fix stay
case in thestandard form

ints min fix
for all FETIt

means flat is smallest one or equal to the

smallest one

is a point lays in the feasible region A makestheobjective

function output is the minimum

and flat is the optimal value

is the optimal point for optimal solution

binding constraints i left LHS and RHS of the constraint is equal
or activeconstraints At b



The problem is infeasible if 2 0

it 2 0

I null matrix
constraintmatrix is zero matrix

on the otherhand

is unbounded if there

exists R E T K 4,2 in

such that flaw no

means if there is a point in the constraints sets which makes
the objective function value is no then the problem is
unbounded or infeasiable


